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Statistical Comparisons of Measured Data

Is my measured mean different from an accepted value? /\
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Is my measured n{éﬁa'n different from a different measured mean?
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What if you want to compare 3 or more samples?

Which seems best?

A) Compare each pair of samples to each other and evaluate
whether they are "the same"
c.g., X1VSX2 X1 VS X3 X1 VS X4
X2 VS X3 X2 VS X4
X3 VS X4

B)SCompare the samples as a set to determine whether they are all
'the same"
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Analysis of Variance (ANOVA)

Compare 3 or more samples from 3 or more populations

For example:
3 different instrumental methods measure the same thing.

Are all of the resultant values "the same"??

We want to compare three means: i, po2, U3
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Zar example:
4 groups of pigs are given different types of feed, and the pigs are
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